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APPLIED MATHEMATICS

ot v @, (iftreham 37 - 70
Time allowed : Three Hours| [Maximum Marks : 70
;ﬁ?: (1)

Note :

ey ¥ SRR &, 9 3 @) fs atg % ser A |
Question No. | is compulsory, answer any FIVE questions Jfrom the remaining.
(i) e 997 3 G 4T ) e vas @ 7T £ |

Solve all parts of a question consecutively together,
(iti) N T $) 79 98 § YREy o )

Start each question on fresh page.
(iv) aﬁ'wﬁimﬁ#aﬁ@ﬁimwﬁm?/

Only English version is valid in case of difference in both the lunguages.

() FAT 4y —dy+ 6y - 12 = 0% Fg 3 o 7 Hfn |
Find the centre and radius of the circle x> + y* — 4y + 6y~ 12=0,
d 2
(i) & K !&%ze"'y‘h\" e

dy _
Salve:S==¢' ¥ 4,2 gy

du
(iii) mml-ﬁimmwmmﬁﬁﬁl

Find the modulus and argument of the complex number | — \ﬁ 1,

(iv) Swﬁﬁﬁfﬁﬁﬁa%wﬁaﬁ{ﬁﬁﬁmﬁhmﬁ ?

In how Mmany ways 8 persons seated around a round table ?
dy
(V)

———————

(2x5)
| )
SIN~X cos™y

P.T.O.
(1 ofd)
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104 1.3.5. ... (2n- 1)

; : 3 bl ¥
2/ (i) m’z_ﬁmf%(lfxfﬁ%mﬁqu‘ 1

-

Prove that the middie term in the expﬂm‘ion of
(T + x5 I .3,5..’:...(2n~ 1)12,1,_
n
(i) fog A - sin 10° sin 50 sin 607 sin '}(fj:#
A 16
Prove that : sin 10° sin 50° sin 60° sin 70r = lg

. X, 0<x<]
3/ ) Wﬁm_f(x)- {k—h. 1€x<2
£ = | TUEAE B Ak uE g i |

if the function f{x) is continuous at x = |,
then find the value of k

X, 0<x<i
fxy =
k—2%, 15x<?
(ii) #mﬁanﬁﬁqmmmﬁmmﬁmaﬁhﬁ;
Solve the following system of linear equation by using Cramer’s Rule -
X+t2y+3z=6 .
xx+4y+2=7
Ix+2y+92=14

(6+6)
fag $ifm .
Prove that -
-a? ab  ac

ab ""bz bC \ = 4 aszcz

N
c‘\,:n

ac bc -—¢2

(ii) mmimmmﬁmm%a,@lﬁga,mﬁﬁwam%m‘t@
2x+3y+7 =0 emaEg R |
Find the equation of a line

passing throy (3, 4) and dicul: :
2x+3y+7=0, gh ) perpendicular to the line

(6+6)
Sp () 3w = ey firg v e
dy __ logx
4™ (1 + log xy?
Ifx* =€ ¥ then prove that
dy log x
dr 7 (1 + log‘f\')2 (6)
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(i) g R fop & m Pt (Rerfep) Sarrd i Sfham 31t Tt i o1 a7 ofid

HIT tan ‘(\ﬁ) 21

Show that the semi-vertical angle of a cone of maximum volume and given slant

height is tan ! (\ﬁ).

= w5 H1f

Solve the following integrals :

, "xsin'x
o [l

.,,] _ud\.?.d'x

= Sraeret axftertor we St

Solve the following differential equations :

d
() «x log.x ?& ty=2log.x
od} dy o
(i) -3 +2y=e
() = 3| Hify .
Find the value -
w4

J log, (1 + tan x)dx
0

(i) Torg (0, 1. 2) & B oY w@t ww 25 + 4F

A force 27 + 43‘\ + 2k is passing throu
w.r.t. the point (1, -2, 0)

()

(6+6)

(6+6)

gh point (0, 1, 2). Find the moment of force

(6+6)



